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#include <stdio.h>
#include <stdlib.h>

int main(void) {

int x;

float y;

for(x=0,y=50; x<25; x+=5, y/=2)
printf(“x=%d, y=%4.2f\n” x,y);

return O;

}
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#include <stdio.h>
#include <stdlib.h>

int a=10, fun(int);
int main(void) {
int b=6;
print(“a=%d, b=%d, fun(a)=%d\n”,a.b.fun(a));
return O;
}
int fun(int b) {
a-=b; b/=2;
return(a+b)

}

® (10 »)
#include <stdio.h>
#include <stdlib.h>

#define SIZE 10
void fun(int*, int);
int main(void){
int x(SIZE) = {1,2,3,4,5,6,7,8,9,10};

fun(x, SIZE);
printf(“\n”);

retrn O;

¥

void fun(int*a, int size){
if(size>0){
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fun(a+3, size-3);
printf(*“*(a+%d)=%d\n”, SIZE-size, *a);
¥
}
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x=0, y=50.00
x=5, y=25.00
x=10, y=12.50
x=15, y=6.25
x=20, y=3.12

XF e by E g 2(F L H) wEERFSR L] x=268%4
()
a=5, b=6, fun(a)=10

1.fun(@)%# 7 > a=5"b=5(10/2),5+5=10 % i# 10
2.b=6% %
3. 234 %athfun(a) € ALec= 5

=)
*(@+9)=10
*(a+6)=7
*(a+3)=4
*(a+0)=1
fun(x, 10)
== fun(x+3.7)
== fun(x + 6, 4)
== fun(x + 9. 1)

=>(1). # © *@+9)=10 (F 2 x[9])
=>(2). # : *@+6)=T (F ¥ x[7)
=>(3). ##  *@+3)=4 (FF xB3))
=>(4). % 1 *a+0)=1(FE x[0])
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employee salary_slip
id : varchar(10) id : varchar(10)
first_name : varchar(30) . | year:int
last_name : varchar(20) 1 month : int
amount : int

O SQL 7 41 % — B A e R FFF IR 0 2 AR m id, first_name, last_name 2 3L3F o
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SELECT first_name, last name FROM employee WHERE id="A001’
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salary slip ##f = F 7T T EE B LY o
SELECT employee.id, employee.first_name, employee.last_ name, SUM(salary_slip.amount) AS
FROM employee, salary_slip
WHERE employee.id = salary_slip.id
GROUP BY employee.id, employee.first_name, employee.last_name;

O
FF s A BIEE A
SELECT first name, last name FROM employee WHERE id="A001" ‘or 1 = 1- -
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public static String encrypt(int[] ar) {
String str = "";
int i;
for (1 = @; 1 < ar.length; i++) {
ar[i] = (ar[i] + 5) % 18;
}
for (1 = @; 1 < ar.length / 2; i++) {
int tmp = ar[i];
ar[i] = ar[ar.length - i - 1];
ar[ar.length - i - 1] = tmp;
}
for (1 = ©; i < ar.length; i++) {
str += ar[i];
}
return str;
}
()
public static String decipher(int[] ar) {
String str = "";
int i;
for (1 = @; 1 < ar.length / 2; i++) {
int tmp = ar[i];
ar[i] = ar[ar.length - i - 1];
ar[ar.length - i - 1] = tmp;
}
for (i = @; i < ar.length; i++) {
ar[i] -= 5;
if (ar[i] < @) {
ar[i] += 16;
}
}
for (1 = @; 1 < ar.length; i++) {
str += ar[i];
}
return str;
}
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public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
while (true) {
System.out.println("s5ei  —EAEEIEEEL (8 A 08EHRER) "))
int num = sc.nextInt();
if (num == @) {
System.out.printIn("Eisit FILER - Bl IREEAE LR HEE -
break;
¥
while (true) {
if (num < 10000 || num > 99999) {
System.out.printIn("figi FISELT ERMEIEE");
System.out.println("EEmE2 ") ;
num = sc.nextInt();
} else {
break;
¥
b
if (num >= 10000 & num <= 99999) {
String[] ar = (num + "").split("");
int[] pwd = new int[ar.length];
for (int i = @; i < ar.length; i++) {
pwd[i] = Integer.parseInt(ar[i]);

¥
System.out.printIn("IIFEAZES " + encrypt(pwd));
System.out.printIn("@ZiEfEwEs " + decipher(pwd));
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# B Person #f %] 22 Police #f %] 4% 5% #% - Police #f %] 2. Get Personal Informtion & %< Jf & w
£ > % (Id_no) ~ ¥ % (name) ~ B 4 (rank) - Update Role Title & d#c. Jf = B § 1% { A7
police_rank - (30 4*)

Person
<<abstract>>

Program |#1d_no : stning
gagpn— -
# name : stnng

Main(stning(] args):void

T—éclﬂqsonallnfonnalion() string
+ UpdateRoleTitle() : void
7\

i

|
[ |
{ Police E Staff
- police_rank : PoliccRank

- staff_position : StaffPosition

+ Police(id : string, name : string)
+ Ge ; st

+ UpdateRoleTitle(title : ?) : void

+ Staff(id : string, name : string)

+ Gcchmnalhﬂn_rmtion() : stnng
+ UpdateRoleTitle(title - 7) = void
L
StaffPosition \

PoliceRank {

i* code : string fl+ code : string

|+ rank : r+ title : string
|

!

+ PoliceRank(code : string, rank : string) '+ StaffPosition(code : string, title : smnm
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GetPersonalInformation() 2 UpdateRoleTitle() - UpdateRoleTitle(title) 7] &_ UpdateRoleTitle() s % §* -
public abstract class Person {

#p 5| Police, Staff i p & % 25 %] Person - i&@ Bap P & W F (T 8) 8K ka2

protected String id no;
protected String name;

public Person(String id no, String name) {
this.id no = id no;
this.name = name;

}

public abstract String GetPersonalInformation();

public abstract void UpdateRoleTitle();
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public class Police extends Person {
private PoliceRank police_ rank;

public Police(String id, String name) {
super(id, name);
}

public String GetPersonalInformation() { // &% (=F)sERsHsHE
return "id no: " " + police rank.rank;
}

+ id no + ", name: "™ + name + ", rank:

public void UpdateRoleTitle() {} // SEEMFEER - LEEF HEES

public class PoliceRank {

public String code;
public String rank;

public PoliceRank(String code, String rank) {
this.code = code;
this.rank = rank;

public class StaffPosition {

public String code;
public String title;

public StaffPosition(String code, String title) {

this.code = code;
this.title = title;

public class Staff extends Person {
private StaffPosition staff position;
public Staff(String id, String name) {

super(id, name);

}

public String GetPersonalInfarmation() {
return "id no: "
}

public void UpdateRoleTitle() {}

+ id no + ", name: " + name + ", rank:

+ staff position.title;

public void UpdateRoleTitle(String title) {
staff position.title = title;
}
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